
(1)VIII-SCIENCE & TECHNOLOGY

General Instructions :
1. The question paper consists of 2 sections - Section A (having 21 questions) and

Section B (having 09 questions). You are to attempt both the sections.
2. All questions are compulsory.
3. There is no  overall choice. However, internal choices have been provided in 3 questions

of 5 marks category and 3 questions of 2 marks category.
4. All questions of Section A and all questions of Section B are to be attempted separately.
5. Questions 1 to 5 in Section A, and Questions 22 and 23 in Section B, are multiple

choice type questions and carry one mark each.
6. Questions 6 to 11 in Section A, and Questions 24 and 25 in Section B, are short

answer type questions and carry 2 marks each.
7. Questions 12 to 17 in Section A, and Questions 26 to 28 in Section B, are also short

answer type questions and carry 3 marks each.
8. Questions 18 to 21 in Section A, and Questions 29 and 30 in Section B, are long

answer type questions and carry 5 marks each.

lkekU; funsZ'k %

1- bl iz'u i=k ds nks [kaM gSa & [k.M ^v* (ftlesa 21 iz'u gSa) vkSj [kaM ^c* (ftlesa 09 iz'u gSa)A vkidks
nksuksa gh [kaMksa ds iz'u djus gSaA

2- lHkh iz'u vfuok;Z gSaA

3- dksbZ lkefxzd fodYi ugha fn;k x;k gS rFkkfi 5 vad dh Js.kh ds 3 iz'uksa rFkk 2 vad dh Js.kh ds 3 iz'uksa
esa vkarfjd fodYi iznku fd, x, gSaA

4- [kaM ^v* ds lHkh iz'u vkSj [kaM ^c* ds lHkh iz'u vyx&vyx djus gSaA

5- [kaM ^v* esa iz-la- 1 ls 5] rFkk [kaM ^c* esa iz-la- 22 vkSj 23] cgq&oSdfYid iz'u gSa ,oa buesa ls izR;sd dk
1 vad gSA

6- [kaM ^v* esa iz-la- 6 ls 11 rFkk [kaM ^c* esa iz-la- 24 vkSj 25 y?kwÙkjkRed iz'u gSa ,oa buesa ls izR;sd 2
vadksa dk gSA

7- [kaM ^v* esa iz-la- 12 ls 17 rFkk [kaM ^c* esa iz-la- 26 ls 28 Hkh y?kwÙkjkRed iz'u gSa ,oa buesa ls izR;sd
3 vadksa dk gSA

8- [kaM ̂ v* esa ç-la- 18 ls 21 rFkk [kaM ̂ c* esa iz-la- 29 vkSj 30] nh?kZ mÙkjkRed iz'u gSa ,oa buesa ls izR;sd 5 vadksa
dk gSA
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Section - 'A' 

1. The force of friction-
(a) always support any relative motion between two surfaces in contact.
(b) is always directed along the surfaces in contact.
(c) does not depend upon the force pressing the two surfaces together.
(d) between the two surfaces, does not depend upon their relative state of

motion.

?k"kZ.k dk cy &

(a) nks i`"Bksa ds chp xfr'khyrk mRiUu djus esa lgk;d gksrk gSA

(b) ges'kk nksuksa i`"Bksa dks tksM+us okys lrg dh fn'kk esa gh yxrk gSA

(c) nksuksa i`"Bksa dks tksM+us okys cy ij fuHkZj ugha djrkA

(d) nksuksa i`"Bksa ds chp dh xfr'khyrk ij fuHkZj ugha djrkA

2. An example of a weak electrolyte is :
(a) Sulphuric acid (b) sea water
(c) oxalic acid (d) nitric acid

uhps fn, x, rjy inkFkks± es dkSu lk ghu pkyd nzo dk ,d mnkgj.k gS\

(a) lYÝ;wfjd vEy (b) leqnz dk ikuh

(c) vkWDlsfyd vEy (d) ukbfVªd vEy

3. Gold is used for making jewellery because -
(a) it is highly malleable (b) it is least reastive
(c) it is highly ductile (d) all the above

lksuk tsoj cukus ds dke vkrk gS D;ksafd &

(a) og vk?kkroèkZuh; gSA (b) og cgqr de vfHkfØ;k'khy gSA

(c) mlesa rU;rk gSA (d) mijksDr lHkh dkj.k lgh gSaA

4. For protecting the environment, it is preferable to minimize the use of
(a) hydel and wind energy (b) solar cookers
(c) coal and petroleum products (d) biogas

okrkoj.k dh lqj{kk ds gsrq ;s vko';d gS fd ge

(a) ty rFkk fo|qr ÅtkZ (b) lksyj dqDdj

(c) dks;yk rFkk isVªksfy;e inkFkZ (d) ckW;ksxSl

dk iz;ksx de ls de djsaA

1
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5. The reading on the Ritcher scale, for on earth quake, capable of destroying
an entire population, would be of the order of
(a) 3.5 (b) 4.5
(c) 5.0 (d) 8.0

vR;fèkd tku vkSj eky dk uqdlku dj ldus okys HkwdEi dk fjDVj iSekus ij ifjek.k yxHkx
gksxkA
(a) 3-5 (b) 4-5
(c) 5-0 (d) 8-0

6. An applied force acts on a body.
(i) in the direction of its motion.
(ii) at an angle to the direction of its motion.

What is/are the likely effects of the force in each case?

,d cy dk izHkko crk,¡ tks
(i) mlh fn'kk esa yxk;k tk, ftl fn'kk esa oLrq xfr'khy gSA
(ii) xfr'khy oLrq dh fn'kk ls ,d dks.k ysdj yxk;k tk,A

OR (vFkok)

What happens when two unbalanced forces act on an object in the
(i) same direction?
(ii) opposite directions?

ifj.kke crk,¡ ;fn fdlh oLrq ij nks vlarqfyr cy
(i) ,d gh fn'kk esa yxk, tk,¡A
(ii) foijhr fn'kkvksa esa yxk, tk,¡A

7. Observe the figure carefully and identify :
(i) the nature of the force
(ii) the kind of force
(iii) the cause of repulsion

fn, x, fp=k dks è;ku ls ns[ksa vkSj crk,¡
(i) cy dk O;ogkj@izÑfr dSlh gS\
(ii) cy dk izdkj D;k gS\
(iii) izfrd"kZ.k dk dkj.k D;k gS\

Alternative Question for Visually Challenged Students

n`f"Vghu fo|kfFkZ;ksa ds fy, oSdfYid iz'u
When a charged ebonite rod is brought near a similarly charged suspended
ebonite rod, the two rods are observed to exert a force on each other. Identify:
(i) the nature of force (ii) the kind of force

(iii) the cause of repulsion.

1
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;fn ,d vkosf'kr ,cksukbV dh MaMh ,d yVdh gqbZ vkosf'kr ,cksukbV dh MaMh ds ikl ykbZ tk,]
rks nksuksa MafM;k¡ ,d nwljs ij cy yxkrh gSA crk,¡ fd
(i) cy dk izÑfr@O;ogkj dSlk gS\ (ii) cy dk izdkj D;k gS\
(iii) izfrd"kZ.k dk dkj.k D;k gS\

8. How are shock or seismic waves caused?

HkwdEih rjaxs (vFkok dEiu) dSls mRiUu gksrh gSa\

9. State any two safety measures that should be taken by people living in
seismic zones.

HkwdEi dh vfèkd vk'kadk okys {ks=kksa esa jgus okys yksxksa dh lqj{kk ds fy, vko';d dksbZ nks fo'ks"k

rS;kfj;k¡ crk,¡A

10. (a) What is an alloy?

(b) Write the composition of bronze?

(a) feJèkkrq fdls dgrs gSa\

(b) ^dkals* dh lajpuk crk,¡A

OR (vFkok)

Give reasons :
(i) Copper is used for making electrical cables.
(ii) Silver foil is used for decorating food stuffs.

dkj.k crk,¡ %

(i) rkacs dk mi;ksx fctyh dh rkjsa cukus esa gksrk gSA

(ii) pk¡nh dk odZ feBkbZ;ksa dks ltkus esa yxk;k tkrk gSA

11. (i) Define an 'ore'.

(ii) Write the names of the ores of aluminium and iron.

(i) ^v;Ld* dh ifjHkk"kk fy[ksaA

(ii) fuEufyf[kr èkkrqvksa ds v;Ldksa ds uke crk,¡ &

vY;wfefu;e ,oa yksgkA

12. (i) What do you understand by the term 'limiting force of friction'?
(ii) Why do we find it easier to maintain an object in motion than to

start it from rest.

(i) ¶LFkSfrd ?k"kZ.k dk vfr lhek cy¸ dFku dk D;k vFkZ gS\

(ii) fdlh xfr'khy oLrq dh xfr cuk, j[kuk mls fojke voLFkk ls xfr'khy djus dh rqyuk

esa vis{kkÑr vklku gksrk gSA dkj.k crk;saA
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13. Give reasons :
(i) The shape of a boat is some what similar to that of a fish.
(ii) Ball bearings are used in most of the machines.
(iii) Gymnasts often apply chalk powder on their hands.

dkj.k crk,¡ %

(i) uko dk vkdkj dqN&dqN eNyh ds vkdkj tSlk gksrk gSA

(ii) vfèkdrj e'khuksa esa ckWy fc,fjax iz;qDr fd;s tkrs gSaA

(iii) fteuSLV vius gkFkksa ij vDlj pkWd ikmMj jxM+rs gSaA

14. (i) Draw a neat labelled diagram of a voltaic cell.
(ii) How is electrical energy obtained in it?

(i) ^oksfYVd lsy* dk js[kkfp=k cuk,¡A

(ii) ;g lsy fo|rq ÅtkZ dSls mRiUu djrk gS\

Alternative Question for Visually Challenged Students in lieu of 14(i)

n`f"Vghu fo|kfFkZ;ksa ds fy, 14(i) ds LFkku ij oSdfYid iz'u
(i) Name the two electrodes and the electrolyte used in a voltaic call.

(i) oksfYVd lsy esa iz;qDr nksuksa bySDVªksMksa rFkk bySDVªksykbV ds uke fy[ksaA

15. (i) Name any 2 places in India where natural gas fields have been
discovered.

(ii) Why is natural gas considered to be a cleaner fuel? [2 points]

(i) Hkkjr esa nks LFkku crk,¡ tgk¡ çkÑfrd xSl ikbZ tkrh gSA

(ii) çkÑfrd xSl dks LoPN b±èku D;ksa dgk tkrk gS\ (nks dkj.k fy[ksa)

16. (i) How does carbon monoxide affect transport of oxygen to various parts
of body?

(ii) State any 2 harmful effects of acid rain.

(i) dkWcZu eksuksvkWDlkbM gekjs 'kjhj esa vkWDlhtu ds lapkyu dk ekxZ jksdrk gSA dSls\

(ii) ^vEy o"kkZ* ds nks nq"ifj.kke crk,¡A

17. (i) Define ' Green house Effect'.
(ii) State its consequence. (any 1)
(iii) Name the green house gas that increases in atmosphere when large

scale diforestation is done.

(i) ^ikSèkk&?kj&izHkko* dh ifjHkk"kk fy[ksaA

(ii) blls gksus okys nq"ifj.kke crk,¡A (dksbZ 1)

(iii) vfèkd o`{kksUewyu ds dkj.k ok;qeaMy esa dkSu&lh ¶ikSèkk&?kj&izHkko¸ xSl dh ek=kk c<+

tkrh gS\
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18. (i) With the help of a suitable diagram explain how one can do
electroplating of copper over zinc.

(ii) Name any two metals that are extracted from their ores by the process
of electrolysis.

(iii) Why is electrorefining of copper done?

(i) ftad ij rkacs ds ysiu dh iwjh fofèk dks ,d mfpr fp=k dh lgk;rk ls le>k,aA
(ii) ,sls nks èkkrqvksa ds uke crk,¡ tks vius v;Ldksa ls fo|qr èkkjk izokgu }kjk izkIr fd,

tkrs gSaA
(iii) dkWij dk 'kksèku D;ksa fd;k tkrk gS\

Alternative Question for Visually Challenged Students in lieu of 18(i)

n`f"Vghu fo|kfFkZ;ksa ds fy, 18(i) ds LFkku ij oSdfYid iz'u
(i) Explain electroplating of copper over zinc.

(i) ftad ij rkacs ds fo|qr ysiu dh iwjh fofèk le>k,aA

OR (vFkok)

(i) What do you understand by the phenomenon of Electromagnetic
Induction?

(ii) A coil of insulated copper wire is connected to a small torch bulb.
What is likely to happen if a bar magnet is
(a) rapidly pushed towards the coil?
(b) rapidly pulled away from the coil?
(c) kept stationary with in the coil?

(i) ^fo|qr pqEcdh; izsj.k* dk D;k vfHkizk; gS\
(ii) rkacs dh fo|qr jksèkd ysfir ,d ifjukfydk dks ,d NksVh VkpZ ds cYc ls tksM+k x;k gSA

,d pqEcd dks
(i) 'kh?kzrk ls ifjukfydk dh vksj ykus ij
(ii) 'kh?kzrk ls ifjukfydk ls nwj ys tkus ij
(iii) ifjukfydk esa fLFkj j[kus ij
D;k gksus dh laHkkouk gS\

19. (i) Which property of liquid pressure
is illustrated by the figure given below.

(ii) The walls of a plastic bottle are seen
to get deformed if hot water is
poured in it. Explain.

(iii) State any two uses of atmospherie

pressure in our day to day life.

(i) fn, x, fp=k esa nzoh; nkc dk dkSu lk y{k.k Li"V gks jgk gS\
(ii) ;fn xeZ ikuh IykfLVd dh cksry esa Mkyk tk,] rks og Vs<+h es<+h gks tkrh gSA D;ksa\
(iii) gekjs vke thou es ok;qeaMyh; nkc ds nks mi;ksx fy[ksaA

5

5

Tin can
Coloured water

Stream of
emerging

water
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Alternative Question for Visually Challenged Students in lieu of Q. 19(i)

i

(i) State any two properties of liquid pressure.

(i) nzoh; nkc ds dksbZ nks xq.k crk;saA

20. (i) Compare the reactivities of Sodium and Gold metals towards water.
(ii) What happens when magnesium reacts with sulphuric acid?

[Write only chemical equation for the reaction]
(iii) A chemical reaction taking place between copper wire and silver nitrate

solution is shown in the following diagram.

Answer the following questions :
(a) Name the type of chemical reaction (seen above).
(b) Write balanced chemical equation for the above reaction.

(c) Why does the copper wire appear with a silvery coating?

(i) lksfM;e vkSj lksus dh ty ds lkFk gksus okyh vfHkfØ;k esa fHkUurk crk,¡A

(ii) esxfu'kh;e vkSj lYÝ;wfjd vEy esa gksus okyh vfHkfØ;k dk jklk;fud lehdj.k fy[ksaA

(iii) fuEufyf[kr js[kkfp=k esa rkacs dh rkj ,oae~ flYoj ukbVªsV nzo esa gksus okyh vfHkfØ;k dks

fn[kk;k tk jgk gSA

(a) ;g fdl rjg dh vfHkfØ;k gS\

(b) bl vfHkfØ;k dk jklk;fud lehdj.k fy[ksaA

(c) rkacs ij pk¡nh tSlh ped dSls vkrh gS\

5
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Alternative Question for Visually Challenged Students in leiu of 20 (iii)

n`f"Vghu fo|kfFkZ;ksa ds fy, 20(iii) ds LFkku ij oSdfYid iz'u
(iii) When copper wire is dipped in a colurless solution of silver nitrate the

colour of solution changes after some time and a silvery coating appears
on copper wire.
(a) Name the type of reaction involved
(b) Write balanced chemical equation for this reaction.
(c) Why does the copper wire appear with a silvery coating?

(iii) rkacs dh rkj dks tc flYoj ukbVªsV esa Mkyk x;k rks csjax flYoj ukbVªsV gjs jax esa ifjofrZr
gks x;k vkSj pk¡nh dh ijr rkacs dh rkj ij utj vkbZ
(a) ;g fdl rjg dh vfHkfØ;k gS\
(b) bl vfHkfØ;k dk jklk;fud lehdj.k fy[ksaA
(c) rkacs ij pk¡nh dh ijr dSls p<+ tkrh gS\

21. (i) Differentiate between nenewable and non-renewable sources of energy.
Give two examples of each.

(ii) State two main differences between lignite coal and anthracite coal.
(iii) Name the highly viscous component obtained by processing of coal.

Write its one use.

(i) lhfer vkSj vlhfer izkÑfrd lalkèkuksa dk vUrj crk,¡ rFkk izR;sd ds nks&nks mnkgj.k
nsaA

(ii) fyXukbV vkSj ,saFkzklkbV esa D;k vUrj gS\
(iii) dks;ys ds izde.k ls mRiUu gksus okys ,d xk<+s nzo dk

(a) uke crk,¡ (b) ,d mi;ksx crk,¡A

OR (vFkok)
(i) What do you understand by refining of petroleum.
(ii) Give any 1 use of each of the following products :

(a) highly refined petrol
(b) petroleum gas

(iii) With the help of diagram show occurence of petroleum.

(i) isVªksfy;e dk ifj"dj.k dk D;k vfHkizk; gS\
(ii) fuEufyf[kr isVªksfy;e mRiknksa dk ,d&,d mi;ksx crk,¡

(a) ifj'kksfèkr isVªksy (b) isVªksfy;e xSl
(iii) fp=k }kjk èkjrh ds vUnj ik, tkus okys isVªksfy;e Hk.Mkj dks n'kkZ,aA (gj ijr dks

ukekafdr djsaA)

Alternative Question for Visually Challenged Students in leiu of 21 (iii)

n`f"Vghu fo|kfFkZ;ksa ds fy,  21(iii) ds LFkku ij oSdfYid iz'u
(iii) Explain the occurence of petroleum in nature.

(iii) èkjrh ds vUnj isVªksfy;e Hk.Mkj dgk¡ ik;k tkrk gS\ le>k,¡A

5
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Section - 'B' ([kaM&^c*)
22. The shape of the nerve cell is :

(a) oval (b) fibre like
(c) spherical (d) cuboidal

raf=kdk dksf'kdk dk vkdkj gS %

(a) vaMs dk vkdkj (b) èkkxs tSlk

(c) xksy (d) pkSjl

23. Anton von Leeuwenhoek was the first person to establish the existence of
(a) bacteria (b) fungi

(c) protozoans (d) algae

,aVu oksu fy;qosugkWd os igys balku Fks ftUgksaus bl lw[etho ds gksus dk irk yxk;k &

(a) thok.kq (b) dod

(c) izksVkstksvk (d) 'kSoky

24. Differentiate between chloroplast and chromoplast.

^DyksjksIykLV* vkSj DjkseksIykLV esa vUrj crk,¡A

OR (vFkok)

(i) What is chromatin?
(ii) What changes occur in chromatin during a cell division?

(i) ^ØksekfVu* D;k gksrk gS\

(ii) dksf'kdk ds foHkktu ds le; og fdl izdkj cnyrk gS\

25. How does deforestation lead to the following?
(i) Flooding (ii) Desertification

ouksUewyu dSls

(a) ck<+ vkSj (b) e#LFkyhdj.k ds fy, ftEesnkj gS\

26. (i) Suggest a process for the preservation of food for the following :
(a) Cereals (b) meat

(ii) Name any two chemical preservatives.
(iii) What is food poisoning?

(i) dksbZ ,d rjhdk crk,¡ ftlls fuEu [kk| inkFkks± dks ifjjf{kr fd;k tkrk gSA

(a) vukt (b) ek¡l

(ii) fdUgha nks jklk;fud [kk| ifjj{kd ds uke crk,¡A

(iii) ¶[kk| fo"kkDru¸ fdls dgrs gSa\

1
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27. (i) Why are Biosphere reserves created?
(ii) Name any two biosphere reserves in India.
(iii) What is Gahirmatha Sanctnary famous for?

(i) ^tSoe.My vkj{k.k* dh LFkkiuk D;ksa dh tkrh gS\

(ii) fdUgha nks tSoe.My vkj{k.kksa ds uke crk,¡ tks Hkkjr esa fLFkr gSA

(iii) ^xghjeFFkk vH;kj.;* fdl dkj.k tkuk tkrk gS\

28. (i) Explain any two human actions that are responsible for extinction of
endemic species.

(ii) What is scrap paper?

(i) fo'ks"k {ks=kh iztkfr ds yqIr gksus dh otg euq"; gSA dSls\ (nks dkj.k crk,¡)

(ii) ^jn~nh dkxt+* D;k gksrk gS\

29. (i) Draw a neat diagram of a plant cell. Label the following parts :
(a) power house of the cell
(b) vacuole
(c) cell wall
(d) plastid.

(ii) Why are plant cells more rigid than the animal cells?
(iii) Name any two cell components present in a plant cell but absent in

an animal cell.

(i) ikni dksf'kdk dk js[kkfp=k cuk,¡ o fuEufyf[kr Hkkxksa dks yscy djsaA

(a) ikWoj gkml (b) fjfDrdk

(c) dksf'kdk fHkfÙk (d) gfjryod

(ii) ikni dksf'kdk tarq dksf'kdk ds eqdkcys n`<+ vkoj.k }kjk vkc¼ gksrh gS] D;ksa\

(iii) nks ,sls Hkkx crk,¡ tks flQZ ikni dksf'kdk esa ik, tkrs gSa tarq dksf'kdk esa ughaA

Alternative Question for Visually Challenged Students in lieu of Q. 29(i)

n`f"Vghu fo|kfFkZ;ksa ds fy, iz'u la- 29(i) ds LFkku ij oSdfYid iz'u
(i) Write the functions of the following cell organelles

(a) Power house of the cell (b) vacuole in plant cell
(c) cell wall (d) plastid

(i) fuEufyf[kr dksf'kdk ds Hkkxksa dk dk;Z crk,¡ %

(a) dksf'kdk dk ikWoj gkml (b) ikni dksf'kdk dh fjfDrdk

(c) dksf'kdk fHkfÙk (d) gfjryod

3
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30. (i) The batter of idli turns fluffy and soft if kept overnight.
(a) Name the process involved.
(b) Name the micro organism resposible for it.

(ii) Define antibiotics. Give any two examples.
(iii) Name the microrganism :

(a) that helps in cleaning the environment by decamposing dead
animals.

(b) that lives in symbiotic relationship with leguminous plants.
(iv) How do vaccines help in producing immunity?

(i) bMyh dk ?kksy iwjh jkr j[kus ds ckn Qwy tkrk gS

(a) blesa gksus okyh vfHkfØ;k dk uke crk,¡A

(b) dkSu lk lw{etho bl vfHkfØ;k dks djus esa leFkZ gS\

(ii) ^izfrtSfod* dh ifjHkk"kk fy[ksaA blds nks mnkgj.k nsaA

(iii) lw{etho dk uke crk,¡ tks

(a) i;kZoj.k ds 'kqf¼dj.k esa enn djrk gSA

(b) ^ysX;we* dh tM+ esa ik;k tkrk gSA

(iv) osDlhu fdl rjg gesa fcekfj;ksa ls cpkrs gSa\

OR (vFkok)

(i) What are toxins?
(ii) Complete the following concept map :

(iii) Name any one disease caused by bacteria in the following :
(a) poultry birds (b) plants

(i) ^VkWfDlu* fdls dgrs gSa\

(ii) pkVZ esa fjDr LFkku HkjsaA

(iii) fdlh ,d jksx dk uke crk,¡ tks thok.kq (a) eqxhZ esa vkSj (b) ikSèkksa esa dj ldrk gSA
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(12)VIII-SCIENCE & TECHNOLOGY

Alternative Question for Visually Challenged Students in lieu of 30 (ii)

ii

(ii) A child is suffering from chlera answer the following :
(a) Name causative agent for the disease.
(b) The mode of transmission of this disease.
(c) State any one preventive measure against this disease.

(ii) gStk jksx dk

(a) jksxdkjd lw{etho crk,¡ (b) lapj.k dk rjhdk crk,¡

(c) cpko dk mik; crk,¡A
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